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	1.
	Which phrase best completes this diagram?
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		A.
	Increasing Hourly Wages for Laborers 
 




	 
		B.
	Application of Technological Innovations 
 




	 
		C.
	Increasing the Volume of Farm Production 
 




	 
		D.
	Marketing of Professional Services 
 




	 
	 



	2.
	Use the information to answer the question. 

In the early 1800s, entrepreneurs searching for a place to build a textile mill looked for four factors: the availability of inexpensive land, a large town nearby to supply labor, a fast-moving water source to supply energy, and a large river or seaport for transporting finished goods. 

Which concern would be least important in determining an industry’s location in the United States today? 
 

	 
		A.
	means for transporting goods 
 




	 
		B.
	accessibility to a highly populated area 
 




	 
		C.
	fast-moving water source 
 




	 
		D.
	availability of inexpensive land 
 




	 
	 



	3.
	Which natural resources best complete this chart?


	Factors of Industrialization in England

		Natural Resources 
	? 

	Entrepreneurship 
	James Watt and Richard Arkwright 

	Labor 
	Growing population and influx of foreign immigrants 

	Capital 
	Joint stock companies and strong banking systems 





 

	 
		A.
	Iron ore and draft animals 
 




	 
		B.
	Gold and silver deposits 
 




	 
		C.
	Coal and river networks 
 




	 
		D.
	Fertile soil and steady winds 
 




	 
	 



	4.
	Which factor contributed to England’s emergence as the first country to industrialize? 
 

	 
		A.
	powerful guilds of skilled craftsmen 
 




	 
		B.
	extensive deposits of raw materials 
 




	 
		C.
	trade pacts with foreign nations 
 




	 
		D.
	well-established labor unions 
 




	 
	 



	5.
	Which one of the following statements about child labor during the Industrial Revolution is false? 
 

	 
		A.
	Children worked long hours. 
 




	 
		B.
	Children endured dangerous working conditions. 
 




	 
		C.
	Children were required to receive an education. 
 




	 
		D.
	Children were subject to harsh discipline at work. 
 




	 
	 



	6.
	Which phrase best completes this diagram?
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		A.
	Decrease of available labor supply 
 




	 
		B.
	Increase in agricultural output 
 




	 
		C.
	Increase in migration to urban areas 
 




	 
		D.
	Decrease of overseas trade 
 




	 
	 



	7.
	Which change is described in this excerpt?


	But from the establishment of the Spinning Machines in many Counties . . . no Hand Work could be had, the consequence of which is the whole maintenance of the family [depends on] the father, and instead of six or seven shillings a week, which a wife and four children could add by their wheels, his weekly pay is all they have to depend upon . . . .

—Observations on the Loss of Woollen Spinning, 1794 


 

	 
		A.
	the importance of luxury products 
 




	 
		B.
	the formation of commodity exchanges 
 




	 
		C.
	the industrialization of textile manufacturing 
 




	 
		D.
	the formation of labor unions 
 




	 
	 



	8.
	Which trend in England is best supported by the information in this graph?
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		A.
	spread of industrialization 
 




	 
		B.
	rise of nationalism 
 




	 
		C.
	reliance of slave labor 
 




	 
		D.
	dependence on overseas markets 
 




	 
	 



	9.
	Which historical event was most responsible for the decline of the slave trade? 
 

	 
		A.
	decline of the commercial empires of Spain and Portugal 
 




	 
		B.
	adoption of maritime laws to protect ships crossing the Atlantic 
 




	 
		C.
	migration of immigrants across western U.S. territories 
 




	 
		D.
	expansion of industrialization in Great Britain and colonial America 
 




	 
	 



	10.
	This list reflects which aspect of the Age of Industrialization?


	 British Legislative Acts

	 • Health and Morals of Apprentices Act of 1802
 • Cotton Mills and Factories Act of 1819
 • Workshop Regulation Act of 1867 


 

	 
		A.
	the formation of early labor unions 
 




	 
		B.
	the growth of reform movements 
 




	 
		C.
	the expansion of voting rights 
 




	 
		D.
	the increase of nationalist movements 
 




	 
	 



	11.
	The Industrial Revolution led to migration from 
 

	 
		A.
	coastal to mountainous regions. 
 




	 
		B.
	North America to Europe. 
 




	 
		C.
	rural to urban areas. 
 




	 
		D.
	South America to Africa. 
 




	 
	 



	12.
	How did the Industrial Revolution most affect local governments in Great Britain? 
 

	 
		A.
	Government control over financial institutions increased the power of political leaders. 
 




	 
		B.
	Increased economic power led people to demand more influence over political matters. 
 




	 
		C.
	Demand for government control of production led to increased political strength. 
 




	 
		D.
	Need for capital encouraged political leaders to increase regulation of business. 
 




	 
	 



	13.
	During the Industrial Revolution, which group benefited most from the free enterprise system? 
 

	 
		A.
	child laborers 
 




	 
		B.
	entrepreneurs 
 




	 
		C.
	union leaders 
 




	 
		D.
	women 
 




	 
	 



	14.
	Due to the increase in demand for textiles during the Industrial Revolution, factory owners began to 
 

	 
		A.
	import finished goods. 
 




	 
		B.
	decrease use of steam power. 
 




	 
		C.
	exploit the labor force. 
 




	 
		D.
	demand government regulation. 
 




	 
	 



	15.
	Which development is most associated with the Industrial Revolution? 
 

	 
		A.
	global diffusion of mass culture 
 




	 
		B.
	mass production of consumer goods 
 




	 
		C.
	long-distance distribution of luxury goods 
 




	 
		D.
	widespread formation of craft guilds 
 




	 
	 



	16.
	Workers began to organize into unions for all of the following reasons except 
 

	 
		A.
	to get better wages 
 




	 
		B.
	to improve working conditions 
 




	 
		C.
	to strengthen management 
 




	 
		D.
	to gain protection from lay-offs 
 




	 
	 



	17.
	Based on the information below, which term describes a major driving force of the Industrial Revolution?


	During the Industrial Revolution, business owners and investors were able to earn immense profits. Many used these profits as capital to develop new technology, processes, and products that helped advance the Industrial Revolution. 


 

	 
		A.
	communism 
 




	 
		B.
	direct taxation 
 




	 
		C.
	free enterprise 
 




	 
		D.
	overproduction 
 




	 
	 



	18.
	The migration of people from rural areas to cities during the 19th century is an example of which trend? 
 

	 
		A.
	emigration 
 




	 
		B.
	urbanization 
 




	 
		C.
	feudilism 
 




	 
		D.
	nationalism 
 




	 
	 



	19.
	Which phrase best completes this diagram?
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		A.
	Goods became less expensive 
 




	 
		B.
	Products were superior in quality 
 




	 
		C.
	Laborers received higher wages 
 




	 
		D.
	Industries moved to rural areas 
 




	 
	 



	20.
	Which change in the United Kingdom occurred as a result of the trend illustrated on this graph? 
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		A.
	demand for skilled labor reduced 
 




	 
		B.
	corporate managers gained greater mobility 
 




	 
		C.
	competition for employment increased 
 




	 
		D.
	labor benefits improved 
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